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PRINCIPLES OF ECONOMICS HSSC-I
SECTION — A (Marks 15)

Time allowed: 20 Minutes

NOTE: Section—-A is compulsory. All parts of this section are to be answered on the question paper itself.
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwrliting is not allowed. Do not use lead pencil.

Q.1 Circle the correct optlon i.e. A/ B/ C/D. Each part carries one mark.

(i Who described economics as a science of wealth?

A. Marshal B. Robins C. Adam Smith D. Keynes
(i) Rotten eggs are:

A Free good B. Economic good C. Service D. Wealth
(i) When Marginal utility is zero then totai utility is:

A Minimum B. Maximum C. Increasing D. Decreasing
(iv) If demand is unitary elastic, a 10% decrease in Price will result in:

A 10% change in total revenue B. No change in quantity demanded

C. 1% change in quantity demanded D. 10% increase in quantity demanded
(v) Supply curve will shift when:

A Price falls B. Price rises

c.. Demand curve shifts D, Technology changes

(vi) Market equilibrium means:
A Number of buyers and sellers are equal B. Demand and supply of commodity is equal
C. Quantity demanded > Quantity supplied D. Quantity supplied > Quantity demanded
(vii) Reward of which factor of production is not pre-determined?
A Labour B. Land C. Capital D. QOrganization
(viiiy  Marginal Product Curve intersects Average Product Curve when Average Product Curve is at:

A Minimum B. Maximum C. Rising D. Falling
(ix) The necessary condition for firm’s equilibrium is:

A AVC = AFC B. MC = MR C. AR = MR D. TVC = TFC
(%) If a firm shuts down temporarily. It will incur loss equal to:

A AFC B. AVC C. TFC D. TVC
(xi) Which statement is true?

A N.N.P = G. N. P-Depreciation B. N.N.P =N.I

C. N.N.P=D.P.I . D. N.N.P = GNP+Depreciation
{xii) In Pakistan unit of account (money of account) is:

A. Rupee B. Paisa C. Gold D. Dollar
(xdii) The equation of exchange PT = MV was given by:

A Fisher B. Taussing C. Crowther D. Kuznet
(Xiv) A typical business cycle has phases:

A Six B. Five C. Four D. Three
{xv) The rate of Zakat is:

A 20% B. 10% C. 40% D. 2.5%
For Examiner’'s use only: Total Marks: E
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Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Answer any nine parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book, Use supplementary answer sheet i.e. Sheet-B if required. Write your
answers neatly and iegibly.

SECTION-B s 36

Q.2 Answer any NINE parts. The answer to each part should not exceed 5 to 6 lines. (9%x4=36)
() Write down Marshal's definition of Economics.
(i) Differentiate between Rise and Extension of demand.

{iii) How price of Fish is determined in daily market. Show with the help of a diagram.

(iv) Define “Capital”.

(v) Write down four internal economies of scale.
(vi) Compete the table:
Quantity TFC TVC TC MC
o 40 - 40 -
1 40 20 60 20
2 [ ] [ ] [ ] 1 5
3 . . . 12
4 . . 103 16

{vii) Define Wage and Rent.

(vii)y  Define "G.D.P" (Gross Domestic Production).

{ix) Define “Quantity theory" of Money.

(x) Write down the comprehensive definition of Money.

(xi) Wirite any four disadvantages of International trade.

(xii) Differentiate between balance of trade and balance of payments.

SECTION -C ks 24

Note: Attempt any TWO questions. All questions carry equal marks. (2x12=24)
Q.3  Explain the law of “Equi— Marginal Utility” in detail. |
Q.4  What is Monopoly? How is price determined under monopoly?

Q.5 Explain different phases of trade cycles and write down characteristics of trade cycles.
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